A & 0l & AHSH Z Ml A
20238 =0l & eS| ME2E
FA 2
M 20| ZMBRE
&2 R =MEg X 22l CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
MET T 122,039,457 111,778,718 10,260,739
= 64,330,229
[ 340,503
Al 37,879,307
- 19,489,418
=0 =de2d 71,819,340 64,374,081 7,445,259
= 42,499,735
Al 19,833,210
- 9,486,395
=D zdE=a At 22 71,819,340 64,374,081 7,445,259
= 42,499,735
Al 19,833,210
- 9,486,395
S ZYEEY dAsSH A 70,444,568 63,151,582 7,292,986
= 42,266,441
Al 19,724,339
- 8,453,788
301 Let2d= 70,444,568 63,151,582 7,292,986
= 42,266,441
Al 19,724,339
- 8,453,788
01 AFBIEE XTI S (ZLEERTHE) 70,444,068 63,151,082 7,292,986
DIIEMBLST MHI0 N
70,444,068,000& 70,444,068
= 42,266,441
Al 19,724,339
- 8,453,288
14 J|Et2 4= 500 500 0
NHASH RFE=ST ADEHS
500,000 500
=D =ME2E S50 N2 183,888 167,063 16,835
308 AHXISHHMS0IH 183,888 167,053 16,835
08 WEI|I20UetEx 183,888 167,063 16,835
)IIEMBLSN DIZ0] N
183,888,000 183,888
D= MEZFT ofat - FHSH X 388,824 316,536 72,288
= 233,294
Al 108,871
- 46,659
301 Let2d= 388,824 316,536 72,288
= 233,294
Al 108,871
- 46,659
01 AlBIEEHGS (2 NEXTHE) 388,824 316,536 72,288
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SN MESED
Z%: HASE NE2Y
SR MASFe NEAY (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
= 72,666
Al 2,632,852
- 1,539,656
2SS0 GHEAY 9,700,615 8,929, 146 771,469
= 5,455,441
= 72,666
Al 2,632,852
- 1,539,656
ZE2FAE HE2Z2AHY 1,835,449 1,847,814 12,365
= 914,970
Al 426,985
- 493,494
201 LEerE2 & 3,000 3,000 0
= 1,800
Al 840
- 360
01 At 22l 3,000 3,000 0
NAEZ2ZAY 28 oM 3,000,000& 3,000
= 1,800
Al 840
- 360
301 Let2d= 1,832,449 1,844,814 A12,365
= 913,170
Al 426,145
- 493,134
I EEEE R EIEREES ) 1,521,949 1,542,364 £20,415
NEASSIX, NESAT HEIZAR(Q
2], 288) 1,521,949,000& 1,521,949
= 913,170
Al 426,145
- 182,634
02 ALSI X GS(FHLHE, ML) 310,500 302,450 8,050
NHASTE 22 A
310,500 «100E 102 310,500
QIZIRIEtE B2 Z ALY 5,002,174 5,103,420 A11,246
= 3,065,304
Al 1,425,809
- 611,061
307 212t01 & 5,002,174 5,103,420 A11,246
= 3,055,304
Al 1,425,809
- 611,061
05 2IZtE =S 5,002,174 5,103,420 A11,246




SN MESED
3 M55 NE=Y
SR MASFe NEAY (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
1)QItREHE &2 2 AF |
5,092, 174,000& 5,092,174
= 3,005,304
Al 1,425,809
- 611,061
SXNER0l HE2Z2AHY 190, 180 190,180 0
= 114,108
Al 53,251
- 22,821
101 2l244| 190, 180 190,180 0
= 114,108
Al 53,251
- 22,821
04 D122 NS E= 190, 180 190,180 0
NEXCS0l RHE2ZAKI(I21], &,
2E8g) 188,680,000 188,680
= 113,208
Al 52,831
- 22,641
1N=XE<0/ nsAY 1,500,000 1,500
= 900
Al 420
- 180
KNAXEHH 298 X 550,703 480,872 69,831
= 253,565
Al 168,466
- 128,672
201 Zer2dd| 1,120 1,120
01 At 22l bl 1,120 1,120
NI AN 28+
70,0002 * 10 22| *8fk 1,120
203 PR =TH| 770 770
03 AIF=T AR =LY 770 770
NI ZEAM 28 =8
770,000 770
307 212t01 & 548,813 478,982 69,831
= 253,565
Al 168,466
- 126,782
05 2IIAE =S 548,813 478,982 69,831
NXSR2HEH 23] 469,910,000 469,910
= 234,955
Al 117,478
T 17,477




SN MESED
3 M55 NE=Y
SR MASFe NEAY (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NaYISSE Atell2tel it
37,220,000& 37,220
= 18,610
Al 9,305
- 9,305
NEA SXEAE 5,800,000 5,800
Al 5,800
NEMA =&=E S 35,883,000 35,883
Al 35,883
Il;ﬂﬂ%@ ASIAHIA SXALS (OFAF - 28 22 X 145,332 132,296 13,036
&
= 72,666
Al 36,333
- 36,333
301 Let2d= 145,332 132,296 13,036
[ 72,666
Al 36,333
- 36,333
01 AlBIEEHGS (2 NEXTHE) 145,332 132,296 13,036
1)IbAL - 2t 222 |At X1
145,332,000 145,332
[ 72,666
Al 36,333
- 36,333
ZZ2sEUE =2 ExsXE 1,836,894 1,157,111 679,783
= 1,102,138
Al 514,330
- 220,426
307 212t01 & 1,836,894 1,157,111 679,783
= 1,102,138
Al 514,330
T 220,426
1 AIRIS XA E £ 1,836,894 1,157,111 679,783
NWIISSHE N (22LSHAH3)
22,864,000& 22,864
= 13,719
Al 6,402
T 2,743
N3LIISEE I KN (2ERELASEHIB)
51,354,000 51,354
= 30,813
Al 14,379
- 6,162
NI ISsd NF(UWL22EH3)
13,940,000 13,940




SN MESED
M HASE NE2Y
SRl MASSFE AEAY (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
= 8,362
Al 3,903
- 1,675
IEEEEEEEBIEICERNS R
102,188,000 102,188
= 61,313
Al 28,613
- 12,262
NBEREANS N (22LST22)
227,991,000 227,991
= 136,795
Al 63,837
- 27,359
NaLX=AHE | XY (22ASEHAS)
66,514,000 66,514
= 39,909
Al 18,624
- 7,981
DEIYMEAR I XA (22L5FAH3)
108,955,000 108,955
= 65,374
Al 30,507
- 13,074
NEEULHEAN N (22ASHUS)
1,243,088,000& 1,243,088
= 745,853
Al 348,065
T 149,170
=0l 235 1,930 930 1,000
201 Zer2d| 1,160 160 1,000
01 AtR2t2l bl 1,160 160 1,000
=0l SS7SSH
8,000&+5E 43 160
NEG - &t Al 224X~
50,0003 18 20! 1,000
203 PR =TH| 770 770
03 AIFT AR =LY 770 770
Ne=0l 25 gRFX 770,000 770
lglls ==0 IGE22AY 1,991 1,903 88
301 Zet2d= 1,991 1,903 88
14 JIEt2a =S 1,991 1,903 88
=0l 22 At 1,991,000& 1,991
SO AMYR etXlE K& 15,250 14,620 630
201 Zer2 gl 15,250 14,620 630




SN MESED
3 M55 NE=Y
SRl MASSFE AEAY (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
01 AtR2t2l 15,250 14,620 630
NRAHD AIYX M2 3108
1,000,000 #32] 3,000
Nerxis X 450,000 x25H 11,250
274l X 500,000 x2H 1,000
KrEAtell2el dEHH 22 X 30,712 0 30,712
= 15,356
Al 7,678
- 7,678
307 212t01 & 30,712 0 30,712
= 15,356
Al 7,678
- 7,678
05 2IZtAE =S 30,712 0 30,712
1) Xt At 22l AL 2124H] 30,712,000 30,712
= 15,356
Al 7,678
- 7,678
e SN S 40,289,673 38,426,468 1,863,205
= 16,375,063
[ 174,672
Al 15,320,080
- 8,419,868
el SXXH 40,289,673 38,426,468 1,863,205
= 16,375,053
= 174,672
Al 15,320,080
- 8,419,868
ZOHA=XAIE XA 124,213 129,494 Ab,281
201 Zer=2dd| 3,436 3,400 36
01 At 22l 3,436 3,400 36
NEMHASXAIE XNI=EH S HA =&
300,000 1 *5I A 1,500
NEHISX2 2 QI2e(e 88 AR
=g 100,000& 7 & *13] 700
1)L WO At &N AMEHEE ARV
=g 309,000 x2H *23] 1,236
301 Let2d= 7,200 7,200
03 At & X5l (XL ) 7,200 7,200
NZHAI=XAELE SER=2S N
20,0002 x180& »23] 7,200
307 212t01& 101,477 106,794 A5,317
05 2I2IAE =S 49,429 48,194 1,235
NLSENZNZ 22 49,429




FA 2
Ha: Zofel =X A
=Pl Zoel SXXA (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
2)Q124t| 44,429
22 2,781,000 123 33,372
HE SO 1,668,6002 23] 3,338
) FUZAHI 100,000 »12& 1,200
JEXSHEES 3,159,000& 3,159
JdU2ER 280,000& =128 3,360
2)2aH| 3,200,000& 3,200
BXNCH MH S 500,000 500
DHNDS U SHAUE S
1,300,000 1,300
10 ARISXAIEEE2SHIEX 18,000 36,000 18,000
NESZ0HY NHHMSHE T2 XIJ(
ASTONIRISMEHE AXZ)
1,500,0002 122 18,000
11T ALRIS XA E X 34,048 22,600 11,448
NTEZMHLIESHAE sS4 2E Y
2,504,000~ 128 30,048
NESSZH 2552 Al X2
4,000,000 4,000
402 QI2tXH= 0l 12,100 12,100
03 22t &AL BI 12,100 12,100
NEXNEA 0H 2,100,000& 2,100
NTEBHLESHAE JIsE2
10,000,000 10,000
FHSHdEe 28 XN& 124,553 107,662 16,891
Al 5,000
T 119,553
307 212t01 & 124,553 107,662 16,891
Al 5,000
- 119,553
10 AR SXAIEEE2SHIEX 95,928 80,280 15,648
NE=R+0SAUE 238 X 95,928
RIpNI= 7,194,000~ 128 86,328
2)2Ztl 800,000& * 122 9,600
1 ARIS XA E X 28,625 27,382 1,243
f)sotel He 28 XId
2,500,000 43 10,000
Al 5,000
- 5,000
NE2AZH MGMHEns 28 X
9,475,000& 9,475
DAL =0lua 29 X
9,150,000& 9,150
AZrEoel e =248 X 65,000 209,667 AN\144,667
Al 25,000




2A:

g ZoHel =X s
=Pl Zoel SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
- 40,000
307 212t01 & 50,000 32,667 17,333
Al 25,000
- 25,000
11T AR SXAIEE X 50,000 32,667 17,333
NAIZIEOHS HE 24 50,000
2)Q124H| 40,000,000 40,000
Al 20,000
T 20,000
2)2aH| 10,000,000 10,000
Al 5,000
- 5,000
401 Al HIL R CHEI 5,000 177,000 A172,000
01 Al&H| 5,000 177,000 A172,000
NAZIEOHIEE JIs2Y
5,000,000 5,000
405 THatE S| 10,000 10,000
01 A& =S FH=HI 10,000 10,000
1)1 X 20K 10,000,000 10,000
ZOHUIEH K2 476,311 388,405 87,906
201 g2l 128 128 0
01 At 22l 128 128 0
NEOHRIS] & JISHAL EEE M
5,120 «250H 128
301 LEtE2d = 20,000 20,000
03 AR EE X3S (XILTHE) 20,000 20,000
NZoHe HER2E N
10,0002 *1,000All CH*23 20,000
307 212t01 & 446,183 358,277 87,906
03 QAN EI2ZHEL 103, 164 88,849 14,315
ez 248 X
103, 164,000 103, 164
04 QIZEHAIALHE = 33,936 30,320 3,616
NEHRIS & JIG&#A XIS
18,280,000 18,280
1)Z0HQIEHH &AL XI& 15,656
e fIHHHT 9,900,000& 9,900
2JNEAl HOHS! Bt0tS M=
4,130,000 4,130
2)JIS0|MHE SHES 1,626,000& 1,626
1 AIRIS XA E X 309,083 239,108 69,975
NEes2 RESAAY I
267,483,000 267,483
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SN MESED
g ZoHel =X s
e Zoe! SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NE=X FRFX 2,300,000& 2,300
301 Let2d= 46,800 46,800
02 AR 2 XS (HAHS, RNLWH) 46,800 46,800
NHODIE XSS MEAHIA A X
300,000 130 S+ 123 46,800
HOHEO S e Eotet 24 2,930 2,930 0
203 &R =& 770 770
03 Al AR F=LH| 770 770
NEHABISE JHH Ot 2
770,000 770
301 Zet2d= 2,160 2,160
11 HALAHIX S 2,160 2,160
NEOHIESISE A Eotet Eotgs X
20,0003 x18H 6! 2,160
ZOHAUERT|I| ==clAt 50,000 84,816 N34,816
Al 15,000
- 35,000
301 LEtE2d = 50,000 0 50,000
Al 15,000
- 35,000
02 AR EZ XSS (FHAAHS, RNLWH) 50,000 0 50,000
NEXIPDI 25 & I 2 A 50,000
QEHA S 44,000,000& 44,000
Al 15,000
- 29,000
2)28I| g 6,000,000& 6,000
ZojelEo s JI=XJdH 22l X 178,016 132,563 45,453
Al 89,008
T 89,008
307 212t01 & 178,016 112,194 65,822
Al 89,008
- 89,008
10 ARISXAIEEE2SHIEX 178,016 12,194 65,822
DEOHLIHOZSZA J|=X2HEH 22|
118,000,000 118,000
Al 59,000
- 59,000
DNEOHQIEOAIE AEH M=ZAHRIAH], &2
8= 8) 60,016,000 60,016
Al 30,008
T 30,008
ol HoAlE ME2UHEH 2E X 59,770 56,980 2,790
Al 29,885
- 29,885




2A:

3 YoHel =X 58
=Pl Zoel SXXA (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
307 212t01 & 59,770 56,980 2,790
Al 29,885
- 29,885
10 ARISXAIEEE2SHIEX 59,770 56,980 2,790
NHE2L2LIHEE Q1A 55,508,000 55,508
Al 27,754
- 27,754
NESSLEYH 22|
1,065,463 x4=2 )| 4,262
Al 2,131
- 2,131
ol S WS REHELHA 2 130,560 66,474 64,086
307 212t01 & 130,560 66,474 64,086
05 2I2tAE =S 130,560 66,474 64,086
NHEHA 2] 2,000,000& *12& 24,000
N2EIIAL 2124H] 35,280,000& 2 70,560
NI SHHRP =
1,000,000& x2E 12 24,000
NERE KXl 12,000,000 12,000
ZoHe! dXtel XN (SXLRtel) 404,900 347,700 57,200
= 121,470
Al 141,715
T 141,715
101 2l244| 404,900 347,700 57,200
= 121,470
Al 141,715
- 141,715
04 JI2HH22NHSE= 404,900 347,700 57,200
NZHe SXIdXtel XIHA(21H, DELE
s) 404,900,000 404,900
= 121,470
Al 141,715
- 141,715
ol Lxtel XS (MLHLXtel) 1,066,800 931,400 135,400
= 320,040
Al 373,380
- 373,380
101 @1 2A4H| 1,066,800 931,400 135,400
= 320,040
Al 373,380
- 373,380
04 JIZH2Z2 NS Es 1,066,800 931,400 135,400
NZ0He! Lot (MM LXel X (eA4],4
=g s) 1,066,800,000& 1,066,800




2A:

g ZoHel =X s
e Zoe! SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
= 320,040
Al 373,380
- 373,380
ZOHe!l dXtel K& (AIRFHILR2l) 274,000 220,900 53,100
= 82,200
Al 95,900
- 95,900
101 128] 274,000 220,900 53,100
= 82,200
Al 95,900
- 95,900
04 JIZtHI2 2 X SE+ 274,000 220,900 53,100
1)EH0HQ! B! (AIZEH) L XE2] K@ (Q121HI,
e S) 274,000,000 274,000
= 82,200
Al 95,900
- 95,900
LS MAUSE=SA2 24 2,803,410 2,066,627 736,783
Al 2,111,338
- 692,072
307 212t01 & 2,803,410 2,066,627 736,783
Al 2,111,338
- 692,072
05 It &= 2,803,410 2,066,627 736,783
NASZHLSE=X2 2 2,759,510
LSHOHASE =2 2]
2,323,484,000& 2,323,484
Al 1,742,613
= 580,671
D)YSHRIBE =2 2|
436,026,000 436,026
Al 327,020
- 109,006
NEAX SXIEIE 14,100,000& 14,100
Al 13,395
- 705
DEE=E= =N 9,000,000 9,000
Al 8,550
- 450
NAHFAIE UERKD M 5,600,000 5,600
Al 5,320
- 280
Niel 1Folgs XA 2,400,000& 2,400
Al 2,280




SN MESED
g ZoHel =X s
e Zoe! SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
- 120
NEMHASSIHEZIN K&
12,800,000 12,800
Al 12,160
- 640
ZEHASEENZ JIsELAY 31,030 1,060,116 A1,029,086
Al 15,515
- 15,515
402 2I2tAH=01d 31,030 1,060,116 21,029,086
Al 15,515
- 15,515
03 2I2HA EFAL I 31,030 1,060,116 1,029,086
NAOKMIIA =S4 HI[24I] WAl
18,160,000& 18,160
Al 9,080
- 9,080
NAIBIE S etaal B2Z00H A
12,870,000& 12,870
Al 6,435
- 6,435
oS XE AL 21,894,934 20,334,842 1,560,092
= 10,945,367
Al 7,661,757
- 3,287,810
201 Zer=2dd| 4,200 4,200
01 AbR 22l 4,200 4,200
NEMHISSKY =2 X2 2AR2SE 2
=g 70,0003 x5 * 128 4,200
301 LEtE2d = 21,890,734 20,330,642 1,560,092
= 10,945,367
Al 7,661,757
- 3,283,610
01 AR 2 HGS(FLEXTHE 21,890,734 20,330,642 1,560,092
NEMEsK S0 21,890,734,000& 21,890,734
= 10,945,367
Al 7,661,757
- 3,283,610
ZOHR EES2EX Jts0 180,578 73,920 106,658
= 90,289
Al 63,202
- 27,087
301 Let2d= 180,578 73,920 106,658
= 90,289
Al 63,202




SN MESED
g ZoHel =X s
e Zoe! SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
- 27,087
01 AlBIEEHGS (2 NEXTHE) 180,578 73,920 106,658
NEHBSEX IS
180,578,000 180,578
= 90,289
Al 63,202
- 27,087
OHAESAE ABIZIHAL 176,270 0 176,270
Al 123,389
- 52,881
307 g12tol & 176,270 0 176,270
Al 123,389
- 52,881
1 AIRIS XA E X 176,270 0 176,270
NSSZH ort=3l YEMHIA 29
176,270,000& 176,270
Al 123,389
- 52,881
oS ANE 2HIFIHAL 629,430 590,028 39,402
301 Let2d= 625,680 586,278 39,402
02 AR 2 X GS(FHAAHE, NLHH) 625,680 586,278 39,402
NEHASSKY FHIFIOH X
15,8002 x 1102 *30A| 2+ 12& 625,680
308 XXM S0IH 3,750 3,750
11 S| 2S0HetE 4SS A 3,750 3,750
1)7HIZ=0t AN HAIAE IEAIE Y
3,750,000& 3,750
SSEH HoHe=s X 9,631,374 9,281,180 350, 194
= 4,815,687
Al 3,852,550
- 963,137
301 get2d= 9,631,374 9,281,180 350, 194
= 4,815,687
Al 3,852,550
- 963,137
01 AFBIEE XSS (ZLEERTHE) 9,631,374 9,281,180 350, 194
NESSE Hojeleis X
9,631,374,000& 9,631,374
= 4,815,687
Al 3,852,550
- 963,137
LI NEUE XA 40,200 34,800 5,400
307 212t01 & 40,200 34,800 5,400
M AIZIS XA E £ 40,200 34,800 5,400




2A:

g ZoHel =X s
e Zoe! SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
N NHHME ns X
5,600,000& 5,600
Nl d&xs XA
34,600,000 34,600
2EYS BAUUFHEH 29 705,936 606,978 98,958
Al 513,340
- 192,596
201 Zer2d| 128,436 79,200 49,236
01 At22teltl 128,436 79,200 49,236
N BHNSHE JXtz
10,703,000& «12& 128,436
307 212t01 & 577,500 527,778 49,722
Al 513,340
- 64,160
05 2I2tRES 577,500 527,778 49,722
NEreRMel BYDSHE o2 U 2|
577,500,000 577,500
Al 513,340
- 64,160
ORISR 2HE 29 207,280 201,280 6,000
Al 116,765
- 90,515
307 212t01 & 207,280 201,280 6,000
Al 116,765
- 90,515
05 2IZtAE = 207,280 201,280 6,000
DNEOHLIDIEXIAHE el124d] & 2|
181,030,000 181,030
Al 90,515
- 90,515
NsssAtlA 26,250,000 26,250
Al 26,250
NATESE ASIMHIA SXARE (KIS AL AHIA) 349,344 255,240 94,104
= 174,672
Al 87,336
- 87,336
307 212t01 & 349,344 255,240 94,104
[ 174,672
Al 87,336
- 87,336
11T AlRIS XA E X 349,344 255,240 94,104
NEUEZII| HEMHIA
38,304,000& 38,304
[ 19,152




SA: MEEID
g ZoHel =X s
=Pl Zoel SXXA CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
Al 9,576
T 9,576
NEQEL XE2SAHIA
38,880,000& 38,880
[ 19,440
Al 9,720
T 9,720
1) AIZEZ0HQ! OFDFATHI A 272,160,000 272,160
= 136,080
Al 68,040
T 68,040
HeloSelady =4 & 29 554,000 554,000
201 ger2d| 24,000 24,000
01 At 22l 24,000 24,000
NHeIHEHAMEYH YR=
2,000,000 ~12& 24,000
307 el2tol & 200,000 200,000
05 QIIRE = 200,000 200,000
NHEIHSHAME el2dHl & 2]
200,000,000 200,000
401 AlZHIZ SO 180,000 180,000
01 Al£HI 180,000 180,000
Nel2eE SAHI 180,000,000 180,000
405 Ab&HF SHI 50,000 50,000
01 A& =S F S| 50,000 50,000
IR 2 50,000,000& 50,000
406 J|EHAH= 01 S 100,000 100,000
01 JIEtXH201 & 100,000 100,000
DACIHEHAHE X EES
100,000,000 100,000
oAl gas St 8 8le 0ls &4 55,000 55,000
201 Zer2d| 23,640 23,640
01 AtR2t2lbl 8,640 8,640
NAZIE 3le=E 3,840,000& 3,840
NEZSH 4,800,000& 4,800
03 A2l 15,000 15,000
NNE A2 & MHSH 15,000,000 15,000
203 PR =TH| 2,020 2,020
03 Al F=T AR =LY 2,020 2,020
NRZIE 22 d2FA 2,020,000& 2,020
301 Let2d= 29,340 29,340
11 AMAHIXE S 19,440 19,440




SN BRI
ol

g ZoHel =X s
el ZoHel SXIXE EER-E)
SA - HE - SRI(EH) - NRAY - BES of &t T HIDE2
1BHAII(ENots 232 03)
9,000,000& 9,000
NRZIE 34 1,000,000& 1,000
NA2Y gt 8,000,000& 8,000
DESE] 960,000 960
1)Chatd] 480,000 480
14 JIEt24 =S 9,900 0 9,900
1)&sH| 9,900,000& 9,900
dy=2ddl 229,829 49,023 180,806
s 93,165
Al 93,165
- 43,499
el gt (M2 224,079 36,237 187,842
[ 93,165
Al 93,165
- 37,749
QA2 EH (M2 224,079 36,237 187,842
[ 93,165
Al 93,165
T 37,749
101 el244| 196,235 31,760 164,475
= 81,970
Al 81,970
T 32,295
03 SRA(RINAH) 22X+ 196,235 31,760 164,475
NoESHZLIAHBRH) 196,235
2)Jl2s 143,540,000 143,540
= 71,770
Al 71,770
2N 2R 20,400,000 20,400
= 10,200
Al 10,200
2)ZUZ Al 140,000 x4~ 122 6,720
2)tE=g 60,0002 x4 x 122 2,880
D IsE+E 20,0002 x4 x 122 960
2)FE=E 40,0003 x4« 123 1,920
2)ZEFZIHI 1,385,650 x4 & +23] 11,086
QANRS 7ot
90,8203 x4 20 7,266
)F2+¢ 182,800 x4 & »23] 1,463
304 ASEE=S 27,844 4,477 23,367
= 11,195
Al 11,195
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